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Critical Analysis Questions: Question 1
Instructions: 

Write your answers on this Examination Booklet itself, NOT in a blue booklet.

Please read the following abstract, excerpt from the methods section and table of results. Then answer the questions based on your understanding and interpretation of the information provided.

Life events, difficulties and dilemmas in the onset of chronic fatigue syndrome: 
a case control study

Simon Hatcher and Allan House, Psychological Medicine, 2003, 33, 1185-1192

Abstract

Background 

The role of stress in the onset of chronic fatigue syndrome is unclear. Our objectives in this study were firstly to determine the relation between the onset of chronic fatigue syndrome and stressful life events and difficulties. Secondly we examined the role of a particular type of problem, dilemmas, in the onset of chronic fatigue syndrome.

Methods 

We used a case-control design with 64 consecutive referrals from an Infectious Diseases/Liaison Psychiatry Fatigue clinic and 64 age and sex-matched controls from a general practice population control group in Leeds. We had two main outcome measures; the odds ratios of the risk of developing chronic fatigue syndrome after experiencing a severe life event, severe difficulties or both in the year and three months preceding onset; and the proportion of subjects in each group who experienced a dilemma prior to onset.

Results 

Patients with chronic fatigue syndrome were more likely to experience severe events and difficulties in the three months (odds ratio 9, 95% confidence interval 3.2 to 25.1; p<0.001) and year (odds ratio 4.3, 95% confidence interval 1.8 to 10.2; p<0.001) prior to onset of their illness than population controls. In the three months prior to onset 19 of the 64 patients (30%) experienced a dilemma compared to none of the controls.

Conclusions 

Chronic Fatigue Syndrome is associated with stressful events and difficulties prior to onset. Those events and difficulties characterised as being dilemmas seem particularly important.

Participants and methods (Excerpt)

Cases

Cases were consecutive referrals recruited from a joint Infectious Diseases/Liaison Psychiatry Fatigue Clinic in Leeds (Hatcher 1994). Patients were recruited if they met the Oxford Criteria for chronic fatigue syndrome (Sharpe et al. 1991). 

Patients were excluded if there was evidence that another disorder was causing their symptoms, or if they were under 17 years old or if they had a current diagnosis of schizophrenia, manic depressive illness, substance abuse, eating disorder or proven organic brain disease.

Controls

Controls were selected from an age-sex register of a local general practice by stratified random sampling. We selected an age (plus or minus one year) and sexed matched control group because both these variables are associated with exposure to life events and difficulties. Cases and controls were paired to ensure similar periods of time were used when assessing the frequency of life events and difficulties.

Study protocol

We asked consecutive clinic attenders to take part in the study. For the cases SH administered the life events and difficulties schedule to cover a period from two years before the onset of chronic fatigue syndrome to the present. The patients defined the onset of their disorder. The controls were asked about events and difficulties over a time period matched to that of their paired case. 
Severity of fatigue symptoms was assessed by the Health and Fatigue Rating Scale 14 item version (Chalder et al. 1993). Psychiatric symptoms were assessed by the present state examination , PSE9 (Wing et al. 1974) for one month before the interview.

Assessment of life events and difficulties

The Life Events and Difficulties Schedule describes two types of stress. The first is life events - discrete events, such as a death, whose severity is rated on a four-point scale where 1 and 2 are conventionally recorded as severe. The second is difficulties - problems that last longer than a month and are rated on a six-point scale. Where the difficulty lasts at least two years and is rated as 1 to 3 these are conventionally called severe difficulties. Marked difficulties are those difficulties that are rated as 1 to 3 on severity but have lasted less than two years. Events and difficulties that could possibly be related to participants’ health problems, including psychiatric disorder, (so called dependent events and difficulties) were excluded.

Results

Table: The experience of patients and controls of life events and difficulties prior to onset of chronic fatigue syndrome or hypothetical onset. 

	
	Cases

N=64

N (%)
	Controls

N=64

N (%)
	P value

(McNemars Chi-squared)
	Odds Ratio (95% confidence interval)

	
	One year before onset

	Severe event alone
	8 (12.5)
	11 (17)
	
	

	Severe event and major difficulty
	7 (11)
	4 (6)
	
	

	Major difficulty alone
	11 (17)
	0
	
	

	Marked difficulty alone
	2 (3)
	1 (1.5)
	
	

	Severe event and marked difficulty
	8 (12.5)
	0
	
	

	No severe event, major difficulty or marked difficulty
	28 (44)
	48 (75)
	P<0.001

(11.3)
	4.3 (1.8 – 10.2)

	
	Three months before onset

	Severe event alone
	4 (6)
	3 (6)
	
	

	Severe event and major difficulty
	5 (8)
	1 (1.5)
	
	

	Major difficulty alone
	12 (19)
	3 (5)
	
	

	Marked difficulty alone
	7 (9)
	0
	
	

	Severe event and marked difficulty
	3 (6)
	0
	
	

	No severe event, major difficulty or marked difficulty
	33 (51.5)
	57 (87.5)
	P<0.001 

(17.6)
	9 (3.2-25.1).  


Question 1:

From the information provided above, please answer the following questions:
1.1  (4 marks)

What are the major limitations on the recruitment of controls?


​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​__________________________________________________________________________
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1.2  (3 marks)

What are the strengths of the recruitment of the cases?
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1.3  (3 marks)

How could the assessment of psychiatric disorder be improved?
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​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​__________________________________________________________________________

1.4  (4 marks)

From the table, what does an odds ratio of 9 and a confidence interval of 3.2 to 25.1 in the three months prior to onset for no severe event, major difficulty or marked difficulty mean?
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​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​__________________________________________________________________________

1.5  (4 marks)

What other tests of causation may strengthen or weaken the case for an association between life events and difficulties and chronic fatigue syndrome?

​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​__________________________________________________________________________
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Critical Analysis Questions:  Question 2
Instructions: 

Write your answers on this Examination Booklet itself, NOT in a blue booklet.

Please read the following abstract, excerpt from the methods section and table of results. Then answer the questions based on your understanding and interpretation of the information provided.
Effects of exercise on depressive symptoms in older adults with poorly responsive depressive disorder: Randomised controlled trial 

Anne S. Mather, BSc, Section of Ageing and Health, Department of Medicine, University of Dundee, Ninewells Hospital and Medical School, Dundee. Cesar Rodriguez, MRCPsych, Moyra F. Guthrie, MRCPsych, Anne M.McHarg, FRCPsych and Ian C.Reid, PhD, Department of Psychiatry, University of Dundee, Ninewells Hospital and Medical School, Dundee. Marion E. T. McMurdo, MD, Section of Ageing and Health, Department of Medicine, University of Dundee, Ninewells Hospital and Medical School, Dundee.

The British Journal of Psychiatry 2002; 180: 411-415
Abstract


Background:  Depression is common in later life. 
Aims:  To determine whether exercise is effective as an adjunct to antidepressant therapy in reducing depressive symptoms in older people. 
Method:  Patients were randomised to attend either exercise classes or health education talks for 10 weeks. Assessments were made ‘blind’ at baseline, and at 10 and 34 weeks. The primary outcome was seen with the 17-item Hamilton Rating Scale for Depression (HRSD). Secondary outcomes were seen with the Geriatric Depression Scale, Clinical Global Impression and Patient Global Impression. 
Results:  At 10 weeks a significantly higher proportion of the exercise group (55% v. 33%) experienced a greater than 30% decline in depression according to HRSD (OR=2.51, P=0.05, 95% CI 1.00-6.38). 
Conclusions:  Because exercise was associated with a modest improvement in depressive symptoms at 10 weeks, older people with poorly responsive depressive disorder should be encouraged to attend group exercise activities. 

Method: (Excerpt)

Statistical analysis
The primary outcome variable was change in the HRSD from baseline. For the purposes of this study, ‘response’ was defined as a 30% or greater decrease from the baseline score. To address the possibility of dependencies between the measured variables and serial correlation within subjects on consecutive occasions, changes from baseline in all four variables were assessed using the appropriate analysis for repeated measures. Fisher's exact test and exact contingency tests were used for comparison of numbers of patients who responded to treatment. All analysis was by intention-to-treat. 
It was estimated that in order to detect a 30% difference between the percentage of responders in the control group compared with that in the exercise group at the P=0.05 level of significance, a sample size of 40 subjects per group would be required to give a power of 90%. Data on poorly responsive depression are scant but the proportion of responders in the control group was reasonably anticipated to be 10%, compared with an anticipated 40% in the exercise group. 
Table 2: Outcome measure scores at baseline, 10 weeks and 34 weeks, with differences (Diff) and 95% confidence intervals for the differences: exercise (n=42); control (n=43) 

	PRIVATE
Assessment
	Hamilton Rating Scale for Depression


	Geriatric Depression Scale


	Clinical Global Impression


	Patient Global Impression



	
	Exercise


	Control


	Diff (Cl)


	Exercise


	Control


	Diff (Cl)


	Exercise


	Control


	Diff (Cl)


	Exercise


	Control


	Diff (Cl)



	Baseline
	16.7
	17.4
	0.7

(-2.1 to 3.4)
	18.2
	19.1
	0.9

(-1.8 to 3.6)
	3.8
	3.8
	0.0

(-0.5 to 0.4)
	4.7
	4.7
	0.0

(-0.9 to 0.9)

	10 weeks
	12.6
	13.7
	1.1

(-1.6 to 3.9)
	15.4
	16.7
	1.3

(-1.8 to 4.4)
	3.1
	3.2
	0.1

(-0.5 to 0.6)
	6.0
	6.1
	0.1

(-0.7 to 1.0)

	34 weeks


	11.5


	13.7


	2.2

(-0.6 to 4.9)


	15.0


	17.5


	2.5

(-0.7 to 5.6)


	2.9


	3.2


	0.3

(-0.3 to 0.8)


	6.0


	5.5


	-0.5

(-1.4 to 0.5)




Question 2
2.1   (4 marks)

Was the primary outcome significant at a level of P < 0.05? What is the main implication?   
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​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​__________________________________________________________________________
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​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​__________________________________________________________________________
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​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​__________________________________________________________________________

2.2   (4 marks)

Identify two strengths and two weakness of using the authors’ definition of ‘response’.   

​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​__________________________________________________________________________
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​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​__________________________________________________________________________

​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​__________________________________________________________________________

​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​__________________________________________________________________________

​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​__________________________________________________________________________
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​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​__________________________________________________________________________

2.3    (2 marks)

Did they perform a power analysis prior to the study? What is the main implication?   

​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​__________________________________________________________________________
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2.4    (5 marks)

From Table 2, were any of the secondary outcomes significant at the level of P < 0.05? Give two advantages and two disadvantage of including secondary outcomes.   
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2.5     (3 marks) 

In Table 2, why might the authors have used the Mann-Whitney U Test, instead of the 
T test, to compare groups?    
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